efficiency efficiency efficiency

efficiency

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

:...-.-‘-.-'."m 0000000V e eI eI 90V TSI g ol
wheel -2 chamber 1 sector 3 sl 1 layer 4 I

o 10 15 20 29 30 35 40 45 cell

e A A S T R A A VPE S T Y R o g X 2 4 4 d F R Z R S S S e L e T e s S Al R L g

wheel -2 chamber 1 sector 3 sl 1 layer 3 I

o 10 15 20 25 30 35 40 45

T 00000000 000000070000000000000000000000 0009004,

wheel -2 chamber 1 sector 3 sl 1 layer 2 I

:

-9-0- 90000 0 ®0-00000000000000000000000000900900004,4

wheel -2 chamber 1 sector 3 sl 1 layer 1 I

15) 10 15 20 29 30 35 40 45




